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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Name of the
Test: Statistics (Without Books)

Departmental Test for the Ministerial Staff
of the Department of the Economics and | 075

Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qaren@Gm eueng eiseTT S Gmer

Read the following instructions carefully before beginning to answer the
questions.

NeréaEps@ el walébss QeTLRGLD (61 SP&aHTL sfia|mysmens
SEUEITLOM&HL Lig &H&HayLD.

1.

This computer based Test contains 100 number of questions in objective
Type.

Qnss sl cufld Coyeumsgl, 100 Qama@m sumauileoner eflanmssanes
QEBMEAL 8.

. Answer all questions. Each question carries one mark

SImEg NamssEréGl ol wefdaad aQeaur@m olatmald spm
AHUCILET 2 L wig).

In case of doubt, English version is the Final.

ellenéseflsy  #nCHaD Uit Hhufleo augellsd Qar@éa0UL Hsmen
ellen&EGen @migliumesog).

. Words of masculine gender in these questions shall, where the context so

require, be taken to include feminine gender.

Qng eNansseilsd @Ld Quomister gyem UMl Geufledr auTjHengsercd
Gaamailug e, H&CaHU  Quew Ul Seuflslt  QUTTHNGSHEHLD
SILRGLD.

. Before answering the questions in CBT, candidates should read the following

instructions displayed in the monitor:

elememiuugmyisen saflel aufis Cajalh@ eoloLwelsssd QAsM_fuGld
(et saflalullstt  Hempulled  Cameiimid eI EMET  BHEUILOTSHL
U H56LD.

a) One question will be displayed on the screen at a time.

@CT Cposdled @ et WILHOW saiald SHeanguiley CHTETMIL.

b) Time available for you to complete the examination will be displayed through

a countdown timer in the top right-hand corner of the screen. It will display



Which of the condition exists in a symmetrical distribution?
Sp&sarL ohg Blubgener Frmen LTIl @M @D ?

(&)
(B)

g

D)

Mean < Median < Mode
sgnafl < @ent_Hlenaw < wWpas@
Mean > Median > Mode
gqreil > @anL Flena > wpah
Mean = Median = Mode
srnafl = @erLflener = pa@®
Mean < Median > Mode
Fyaa < @eLflana > was@

The Geometric Mean of two numbers 8 and 18 shall be

8 wpmb 18 dw @ aanseatiar Aumssd Frrefl aarareurs @(HéEWD ?

St

(©)

12
195

By 13
) 16

The positional measure of central tendency is
awwplanaGursdler Flena eTeneuseT eranLig,

(A)

©

If @ =30 and @, =50 the co-efficient of Quartile Deviation shall be

Geometric Mean
Qu(psacy syrgr

Harmonic Mean
@ enss syref

MMedian

G flena
(D) Arithmetic Mean
L (h& gyre

wpg® srowrard 30 ey, apamrd srdwred 50 wseyd QEOHEGL  Hlanoulld

srdwnen ellesssa(y eieurn @meEL0 ?

(&)
(©)

0.20
0.30

0.25
(D) 0.40
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5. The Co-efficient of Correlation
2t en@griy Gaw

(A) has no limits {B) canbelessthan1
cuenTERD Qe e BlmHéHEh 1 6@ Gopaurs QmsELn
(C) can be more than 1 varies between +1
1 3@ flswns @ mEEHn 1 &g @enLufled @ m&EWL
6. The statistical tool helps us to estimate the unknown value of one variable from the

known value of another variable 1s
erbs yarafudwe (penp @@ Qsfbs wrdfl wHuGearapeod wHGprm Ggflurg wrHluler
dllienu sensdlL 2 geydmg) ?

(A) Correlation Regression
2 LenGlgmiy Qar_TlGuréEE
(C) Harmonic Mean (D) Median
Benss sqrg] BeoLfleney
1. Both the regression co-efficient cannot exceed
B QsriyCursesary Spsstanib wHlemueil sgswvrarsg
1 (B) 2
< 4 D)y 5
8. When r is zero the regression lines cut each other making an angle of
r ysuens @me@beurg QsruiyGuisg Garpad gamn gearm Qeauligs Garergnhd
GsmanTlb
(Ay 45 (B) 60

O 9o D) 100°

9. Probability ranges from
Repsse setal SpasaT_curn @ MmeE0n

(A) -1to+1 (B) Otow

& 01 D) -2to+2

117/DM/24 4



10.

11.

12.

13.

14.

The Probability that the throw of two dice yields two time 6
B STWES LW @Hpen 2 Kl iyamed Gmuenpub 6 de Niugpstar Hlapssey

@ Y ® 3,
© K¢ Jﬂ/ Va6

Probability Theory has its origin in which Game?
Bapsaes Cariur® waeaupgadld Spasam aphg eflamemwuimigd LwaTuREsuIuCLg ?

(A) Cricket (B) Football
LDL'_.GE)I_ILJI_J‘IBQJ &b
Gambling (D) Tennis
&SI LD AT =0 )

If a card is drawn from a pack of cards the probability of getting either a King or a
Queen is

@@ SGsslud QOopa G TIRT Sdag o Jrwl LG dbEgo Hepss
SPSETLeUTm @) (HEHEHLW

&4 ® Ms

© e o™ Y,

If an event cannot take place, the Probability will be
@ fapey sl CuprsGurg Hepsse eaeiaury @ (He@Gh 2

Ay +1 (B) -1
&0 @) 2

Sampling is the process of learning about the population on the basis of
drawn from it.

s EQDHSsdD eTeTUg Sgtive e uppsLsnagdeou ifipg Cemerer
2 5@ HDg).
(A) Information (B) Data
S6UE yereflefleurd
MZample (D) Population
&GDHLIL oD PYs0sTGS
5 117/DM/24
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15. Medianisa

value in a distribution.

BenL flenew ereimig) G LITeuadled wHUGd Em&@ib.

(A) First (B) Last
(PG san_&

(C) Second G7 Middle
@irer_reug) NLDILI

16. Mode is the value with the following frequency
pa® aatug SpssaETL eThs deraGeua wdii9d QmEEh?

(A) Lowest ighest
LB &5 (& emmeuTen Ne& s flawmen
(C) Twice (D) Thl"ice
Qoo pETDIPED

17. Range is the difference between the two values of which of the following in a

M Smallest and Largest

distribution?
&5&& eramagl ep Ureuddlay Epsadr . s @@ wHlilseradaL Gu o d@rar Caumunr@?

(A) First and Last (B) First and Second
WPsd O seL peemeug WHmID @re rTaig)
(D) Second and Third

BassABlw woHmd BlELEufu @yem_meug WwHmb EPETHTaS)

18. Lorenz Curve is used for the first time to measure the distribution of which of the
following?
ey euanerGETH psenapsans o uradld EpssamLeupfla g Herell
LweTURSSULILL G 7
(A) Profit (B) Wages
QITLLD Faedl
Wealth and Income (D) Loss
G&FeuD WHMID EU(HEU ML BeigL b
19.  Which of the following is popularly known as test of goodness of fit?

Spssameubnhie erg sHuLsalear Qummsssdlen Genganan aram e p&siILHEDS) ?

@/ x? test (B) T test

x° Gengenan T Gengener
(C) Ftest (D) Ztest
F Gergenar Z Gengenen

117/DM/24 6



20. The y* test was first used by
1° Cengeen (pgeanpsdle wWMmed LwLETURSSUULC L g ?

(A) Fisher (B) Gosset
(S Qg Cameul

M Karl Pearson (D) Bowley
&mired 9 wiiaesr Quer

21.  When observed and expected frequencies completely coincide »* will be
semsdL Ll L. seebiuar YD THTUTIEGD HowbleuaT PWLWTE Q5 MHbSTE

,1’2 eTeueumm @NB&HEGLD ?

4) +1 ® -1
+1 -1

© >1 P’ Zero
>1 EUILD

22. Binomial distribution is associated with
FEHIILIL UFeued wmhie QEmirenLug?

James Bernoulli (B) Gossel
Gguwev Guirbererad] Camaved

(C) Laplace (D) Karl Pearson
ariGeaveiv sried Slwiraen

23.  The value of y* which can range from
2F @er vy Spssar_aupmear asHE L ulld BEmE@Gn?

(A) Oto5 (B) 1to10
Wwse 5 aueny 1 apgér 10 auany
0to <« (D) Oto 10
0 wsd © cuey 0 gpgev 10 eueny
7 117/DM/24
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24. The t-test was given by
t-Genmgenan Wrmed eulphisliul L g ?

{A) TFisher ( Gosset
Aew Cament

(C) Bernoulli (D) Karl Pearson
Quirblerared! &mired wiirgen

25.  Fisher is associated with

Sagr eupridluig
(A) 5 test Mtest

x° Gergeven Z Gengenen
(C) ttest (DY Ftest

t Gengener F Gangenar

26. The distribution is used to describe the hehaviour of rare events
sifigrer flapoysatian Gurshiear cllardsl LWSTURD LITeu6D

Poisson (B) Normal

LT IF 6 Queflane
(C) Binomial (D) Multinomial

FBOILILY L miLILy

27. When p and g are equal the distribution is
P whmib g Fwwrs QmEGDLEUTE UTeud eTeueuny @Ha@LD ?

(A) Asymmetrical Mymmetrical
EM e &jua

(Cy Positively skewed (D) Negatively skewed
Gpfepr. CamLib adifle Cari L

28. Quartiles are those values of the variate which divide the total frequency into
arédwrend edug Cwngs mateudranan Spssar_surn 9fs@n wrhuler (variate)

wHGLmELD.
(A) 10 equal parts M equal parts

10 swwresr LGS ser 4 swwnrer L@Gdaser
(C) 8equal parts (D) 100 equal parts

8 swwrar LGS sar 100 swiorer u@EGHser

117/DM/24 ) 8



29.

30.

31.

32.

Deciles are those values of the variate which divide the total frequency into
uferorand eeug Qurss smobauTaayn Spssariery Gfsgn wrdluller
(variate) wSlun@h.

(A) 6 equal parts (B) 4 equal parts
6 suwrar LGS e 4 swwrer UGS sar
10 equal parts (D) 100 equal parts
10 swwrer LGS ser 100 swwrer LiGHaer

Percentiles are those values of the variate which divide the total frequency into
Eibmiorerd eeaug Qwrss semabaarmamyd £pssarern Gfisgn wrhldler
(variate) wflum@L.

(A) 10 equal parts (B) 4 equal parts
0 swwrer UGS EET 4 swwrer UGS ser

100 equal parts (D) 6 equal parts
100 swwrer LGS seT 6 swwrer LGH ST

Which of the following is used to find the average percent increase in sales,
production, population?

Spuear, e pusd, wésa@greas pdueapder syrefl ssais o wimes sarigss
D reTL(hleug

(A) Arithmetic Mean Geometric Mean
s _(pFerned Qimsme gymaf

(C) Median (D) Mode
@eflene &0

Which of the following is the reciprocal of the arithmetic mean of the reciprocal of
the individual observations?

Spssam_cundier ag Qer@ésiur L ofleurhisaiar saa&p wduyseler srmefuflen
savady wHULTGWD.

Harmonic Mean (B) Geometric Mean
Gienss Fynsf Qupssa gma]
(C) Median (D) Mode
@en_flena WS
9 117/DM/24
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33.

34.

35.

36.

Which of the following 1s a cumulative average?
Spssar_cudmet ey smbeany Quoymw srref?

(A) Moving average (B) Median
B&(HD ETTF Gan_lenan

(C) Mode Progressive average
PsH y@,rj)@urrésa;rrm sy

Which is called as average of the second order?
@yaimnb euflens syradl erenug)

( Dispersion (B) Harmonic Mean
fgmed laTencusar @enss syned

(C) Median (D) Mode
@ flenc L0

The Standard Deviation concept was introduced by
S Lellevssd wrrmed aPlupsiLhissiul L g ?

(A) Fisher <27 7Karl Pearson
et anited et

(C) Bernoulli (D) Laplace
@uirGearered eruGeae

In a positively skewed distribution the value of the following is maximum
CprGam’_ ureuale £@$&6&TLmﬂ)sth Tgan AL HHE0OTE @) (HEGLD ?

(A) Mode (B) Median
AL:A0) @en_flene

{ Mean (D) Standard Deviation
gymaf S eflesad

117/DM/24 10



37.

38.

39.

40.

The formula for the Karl Pearson’s Co-efficient of Skewness
arived Wwuisaller CarlLsCawssrer @adlmd

Mean - Mode ®) Mode - Mean
Standard Deviation Standard Deviation
somgfl — apsH) paER — sgred
£ L eSevssid Sl eflevasid

©) Standard Dewviation ) Standard Deviation

Mean - Mode Mode — Mean
S L aflavssin S L efavssd
sqrgfl — (s (P& — &f,rrr&iﬂ

Bowley's Co-efficient of Skewness is based on
Guerelludler Carl L &0s1p eTans Byl wnss e g) ?

(A) Percentiles {B) Deciles
HmILOTETLD udlemomenb

M"uartiles (D) Median
STEOLDTQTLD @leo_flanew

The Statistical Device which helps us in analysing the covariation of two or more
variables

@ren® idos ssHE Cwbul L worilseflar ugevug wrHosHener (covariation)
LEULMmie] Qauw 2 gejb yearatlulwd (penn

(A) Regression M)orrelation

QerryGunée 2 el gTLiy
(C) Probability (D) Mean
flapssey Fqrgf

In a negatively skewed distribution the value of the following is maximum
adlit GamL ugeuesdicd Spssateupde erger wHUL dHswrs @ HEEGL ?

(A) Mean (B} Median
gy @en_flene
Mode (D) Standard Deviation
LI S L elessd
11 117/DM/24
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4].

42.

43.

44.

45.

If both the variables are varying in opposite direction it is called as a corrleation
type of which of the following?

Gresr® wrbisar (variables) i fevsulied wrdlaITL Sig EPSEM THE GueEWITEN
2 L eGETLTLNS Sienp&slUib?

(A} Partial Correlation (B) Simple Correlation
LGS 2 Lenbgmuiry araflenwwrer o L arbigmmy
(Cy'Negative Correlation (D} Positive Correlation
adflen o Lerblgm CrflenL 2L erldgm_iy

Rank Correlation Co-efficient was introduced by
sreuflene o L_ar@amrsQspaiamear aiflwsliubBssuwer

(A) Karl Pearson Mpearman
sty Gwirgen solilwmper
(C) Fisher (D) Bernoulli
Qagr QuirClemeredl

Student ¢-test is applicable in case of which of the following sample?
Epsaehi Ths ambpEUbe wrameur (-Gargemear LwarLBESOMLD ?

( Small (B) Large
Seblui Qufliu

(C) Verylarge (D) Large and small
LA Quilw wHmb Bl

Stratified random sampling is not preferred when the population is
uRsems  soaumily  &mAphuy pen  SpssarL ans WPWsCsT@Huld
GHl(BLbUSSEHSE0E ?

(A) Rows (B) Cards
cullenasar U psar
Homogeneous (D) Hetrogeneous
aQr wrdflwrer GeugyL' L

If the ratio of change between two variables are constant then it 1s known as
@raw® wrdlsepsflen Gu I Afgn  Heoeurs ZHBETO, DG el
AN P&HSEULIHID ?

( Linear Correlation (B) Curve Linear Correlation
CriGasTi_ (B 2 en@Qs iy cuaneTCam( 2 LenGsm_iy
(C) Partial Correlation (D) Multiple Correlation
@GS 2L enbgm i ueps o L el L

117/DM/24 12



46. Harmonic Mean is better than other means to measure
Epsaramih arens etell Genss snefl @y eyrsfsmer el Spbag 2

(C) Length

Height

2 _Wimb

Ratio
cHélzb

47.  Which of the following is two dimensional diagram?
Spsaam_aupded ergy @p uflwTerr efleTé&sliLL D DG ?

(A) Pie diagram

LLeuigas eflerdsluLtd
y/gquares

FFITLD

Cylinder
_(HENET

Bar diagram
Ul enL. eflardsiiuL b

48. The height of most of the people in India is 5.6 ft. Which measure of central value

does it represent?

@Qrdurelies 2 der QupbuTre wasellar 2wgd 5.6 g aafld Ga eww wiudo

Ths seTeney GHAREmS) ?
(A) Second quartile
@reRrLTib srewrerD

Mode
P&

Mean

gymal

Fifth decile
LhsTaLgl LfleTorarnd

49. Data originally collected for an investigation are known as
yerefeQeuriiser guuiasans sars@a@uumeaisand Grrywrs GesflEaiiuBeug

(A) Secondary data

QrarLmn Hlee yerafiefleurd

(C) Data from Published Sources
Qeuefludl_0 Qudm yereflefleurn

Mrimary data

s Hene Laraflelleurhd

(D) Data from Unpublished Sources

GeuaflliLy Quprg yereflaleumid

117/DM/24
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50.

51.

52.

03.

54.

The y* test is defined as

x° Gargeven eregy

@) 2(—0—};—"’3—) ®) Z@

yz(ogg)z D) Z(o;E)2

The normal distribution is an approximation to
sngnyew Leudd Spsseam_aupdled ergem Cgramuib?

(. Binomial distribution (B) Poisson distribution
FRROILIL] LIT@U6D LUMUFTEHT Lifeue)

(C) Probability distribution (D} Skewed distribution
fl&ipgaEa LTaud Cami_L U uyeue

The normal distribution was first discovered by
FISTTERT LTaU® (pSenpsadled wimyred saprGiSigssiiu_Lg ?

(A) Karl Pearson (B) Spearman
Fmied Qwirsen o rGuoer

( Abraham De Moivre (D) Fisher
DpUTETD Gl wrdeuT Aagpfr

The Standard Deviation of Binomial distribution is
@uwoBleat ureuden L ellassd aarug

,y!/ Vnpq (B) npq

(C) n*p’q” D) np

The fourth moment of Poisson distribution is
umagTer ugeuedlen pransmd flene erarig)

(A) m+3m (B) 3m

©) m*+3m P m 3w’

117/DM/24 14



55.

56.

57.

58.

59.

The Standard Deviation of Poisson distribution is
umigmen Lreuelen S eflawsah g

(A) m @J/\/E

©) m (D) m+3m®

If in case of Poisson distribution g, =4.2, u, will be

umiigresr ureuelleds u, = 4.2 =8 QmasGnbiung, U, aeTaeurs @mEEHh ?

(A) , 2.4 B) 3.4

y 4.2 (D) 6.8

If Mean of Poisson distribution is 8, x, will be
umbgrer Lyeuedlan sl QEFrrefl 8 ws BmEEbCung u, aarareurs @HE@ELD ?

A) 8 B) &

o7 200 ® 3

Which of the following is one dimensional diagram?
\GereupeuareudmieT a1g ¢p(h Uflinmenr eflemd&gsliuLb?

(A) Rectangles (B) Squares
AELTE: I FFHTD

M Bar diagram (D) Cubes
Ul enL eflangasliLiL_Lb SNEGITD

Which of the following is three dimensional diagram?
eseu(peuseupmien erg) puudibren edleTésliub?

(A) Bar diagram (B) Rectangle
pleL. edeTssluLb Qscueusib
(C) Circle swﬂ(lylinder
QLD 2_(henerT
15 117/DM/24
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60.

61.

62.

63.

64.

The arithmetic mean of a series 10, 20, 30, 40, 50 1s
10, 20, 30, 40, 50 g éwu Qsr_rsefian el Qasyref

@ 20 30

€ 40 (D) 50

If the income of five persons is 100, 120, 150, 160, 180, then the Median income
would be

mbg Bufseter eumeum 100, 120, 150, 160, 180 aar Qpsred. @bl aumauT
THRTAITE @) (HE@HLD ?

(A) 120 'g(‘mo

(€ 160 (D) 180

If the wages of six persons are 100, 110, 120, 130, 140, 150, then the Median would
be

o pufsefler e 100, 110, 120, 130, 140, 150 earen @QmHsred Qenl Have &aedl
eTemaeUTE @) (HEEHLD ?

(A) 110 B) 120

\g})” 125 D) 130

Which is the most appropriate average in dealing with qualitative data?
Demeupeuaeupfles FHwimen SreysEnhs@ BaLGUTmESOrar Fyraf erg)?

(A) Arithmetic Mean \M,Median
Sl _(HFerrad Beflene

(C) Mode (D) Harmonic Mean
(p&H Qenas symad]

The Mode of the series 3, 5, 8, 5, 4, 5, 9, 3 would be
3,5,8,5,4,5,9, 3 aenp Qgrfé qpah ereug

A 8 B) 3

s D) 9

117/DM/24 16



65. The distribution with more than two values having the same highest frequency 1s
@6 ureud @@ wdiysaid swwrar epabeua TR FHESTH UF)

(A) Bimodal 9/ Multimodal
B paiHiser ua psHaeT
{(C) Median (D) Mean
@ flene gymg

66. Which of the following measures the extent to which the items vary from some
central value?
Spsseir_cupiled erg vw LHLGOSEESE G G abs etey dodl GHssng
GrarLeng sierell 2 geydlmg) 2

(A) Harmonic Mean (B) Median
Beng& synef g enLflenaw

(C) Arithmetic Mean mispersion
L& Fyref Agmed iereney

67. The formula for co-efficient of Range is
N&&5Q0SpsETa GHSEHTID

L+§S B) L/S

L-8 LS

L-8

LS
M L+8 ®) LIS

(4)

68. The formula for Quartile deviation
arrer eflosssdbaErar @aslrb

V' 28 ® Q-4

© L9 © %8

4 3

17 117/DM/24
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69.

70.

71.

72.

The formula for coefficient of Mean deviation is
gyafl eflesasdapasTear @GaHTd

(A) Standard deviation Mean deviation
Mean Median
S L eflEsid gyrgfl ellewssd
gyrgf @en [_‘r_F,‘ImG;J__I h
©) Mean deviation ) Standard deviation
Mode Mode
syrgdl eSevasn S L cflassn
&6 ws®

The lack of symmetry refers to
SrHm FMenD TATLIG)

() Kurtosis Mewness
SLGOL. BieTaney GesriLb
{(C) Range (D) Median
elFs: Qe flane

If the value of Mean is greater than the value of Mode, Skewness will be
ga_(asrreflller wiy wsager wHimuei fsors @Embsrd, GarlLib ereueumm
AE&EGD?
{A) Negative M@sitive

erdifleni_ GCrfleni_
(Cy Zero (D) Infinity

SR Pryeuhng)

If a curve is more peaked than the normal curve it is called as
o aumatGsr( engnran amerGari el 2 wwrs QEbpsTd g SpssaTicumy)
B Pp&SLILGHID

(A) Mesokurtic Meptokurtic

GGensTiy s QeuGLraigs
(C) Platikurtic (D) Kurtosis
ACar iy &iTig & Sl anL. eTeney

117/DM/24 18



73.

74.

75.

76.

The probability obtained by following relative frequency definition is called as

Qem_iiyenLw eeGCeuar dasssfar epad QuDLUBD Hapsse Spésar_surg

ﬁﬂ{osteriori

probability.
ADP&HELLRID
(A) Priori
(pe
(C) Conditional
Bupgewen

P(A or B)= P(A)+ P(B) is
P(A sioeg B) = P(A)+ P(B) aetug
( Addition Theorem

L L Cgmpd

(C) Relative Frequency Theory

gy sepabeisn Carlum@

P(AB)=P(A)x P(B) is
P(AB) = P(A)x P(B) eréruigy

(A) Addition Theorem
gnl_Led Gsmmib
{(C) Relative Frequency Theory

gy sepabedr Cam_ur@

D)

(B)

(D)

D)

Slerym

Empirical
SIGYLIG

Multiplication Theorem
Qu(rsssd Gammb
Conditional Probability
sLOLUGSSLULL. BEhssa)

‘Wultiplication Theorem

Qurssn GCshob
Conditional Probability
sUHUURSSLLLL Hspssey

When Co-efficient of Skewness is zero the distribution 1s
Carl L6001 Ughuwns Bynhéebeumg ured ediaunm G(HEEGD ?

(A) J Shaped
dJ Guigeuld
L Shaped

L eugeud

©

19

(B)

U Shaped
U augauid

ymmetrical
Frra @mEESWD

117/DM/24
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77.

78.

79.

80.

117/DM/24

The calculated value of y* is

r? @er sewsdliul L wéluy
\(V always positive
eriCumgid CrflenL

©)

can be either positive or negative
Grilen_ idvevgy erdlflenL

The Normal Curve is
Fngmyenr suaneTGaENEH ereTug)

Unimodal
@@ PsH
Multimodal
Ue (psH

(©

(B)

D)

(B)

(D)

always negative
cuGurg erdlflenL

Zero
LU

Bimodal
B6 s
No mode
Pps0H @danen

Which of the following is the easiest measure of Dispersion?

Snssam_aupild ag aaflu Hend eranauser ?

( Range
e &s

(C) Vanance
wrmum

The formula for coefficient of variation is

wrpeilflg Qapasrear GsHlibd

Mandard deviation «100
Mean

S edlesshd

x 100

sqrgifl

Mean x Standard deviation
100

gyrem x L ellessh

- 100

(®)

20

(B)
D)

(B)

D)

Quartile deviation
srewrer edle&sih

Standard deviation
S L eflevdaid

Mean <100

Standard deviation

grref) 100
- X
S Leflesaid

100

MeanxStandard deviation
L _ 100

El;rrfgrﬂ x_ﬁ U Leflendsib




81.

82.

83.

84.

Which of the following is most affected by extreme values?

Epsaam_euphled LUpsGary wdiiysamrd (extreme values) wiflswns urdlsstu@eug ?

Arithmetic Mean (B) Median
sl (h&zgrafl @enL_flene

(C) Geometric Mean (D) Harmonic Mean
CumEae gyraf @ enss FTrFi

Mean is a Measure of
Fyraf) Temug) eTHEd HeTanGU ?

(A) Daspersion \W/C:entral Value

gmed siemenau enow &y
JC)  Correlation (D) Regression
2 Lén @Gamiry QariryGurées,

Which of the following represent Median?
Snsaar_auphdler ag e flawaw GHisfng ?

(A)  First Quartile 7 Fiftieth Percentile
(PG> FHMELDTELD LbUSTEUG HIDHDILOFETD

(C) Sixth Decile (D) Third Quartile
DTG SFOTATD ELPEITIDTEUS) HTEIDTETLL

Geometric Mean of two observations can be calculated only if

Q@ sans&@seflan (observations) Quepésd srrefleow sansfl. Spsarand abs

FlEpe 2.564b7?

both the observations are posifive

@ m searssRaenn Crfla_wnrs @mess Ceauatr(Hib
(B) one of the two observations is zero

B samsshaeia qam YRULTES G(hss CauamhHin
{(C) one of the two observations is negative

Bm sansdhaetla gamm adfleorwrs Gmes GeusHibd

(D) both the observations are zero
A semsEHaEEL YHuwrs @kss Gaam@ib
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85. Extreme value have no effect on
Lp&Gamg wUL T undsslLUL THE)

{A) Mean Median
sqmefl @en_Flene

(C) Geometric Mean (D) Harmonic Mean
Quepsae Frmaf @engsgyradl

86. The average of the 7 numbers 7, 9, 12, x, 5, 4, 11 18 9. The missing number x is
7,9,12, x, 5,4, 11 sydlwu 7 arawsailer ggrefl 9 arampra x -@ew iy

A) 13 B) 14

£9/15 D) 8

87. If the two observations are 20 and —20 their Arithmetic Mean is
L@ semssRHsar 20 nHmb —20 erempred Beupidler e HéFTradl cTenaTeurs @) (HaHED ?

(A) 10 (B) 20

N> ® 15

88. The first Quartile 1s also known as
(P& STELDTETLD 6T6TLIG)

(A) Median Mower Quartile

@eflene Sphlenew sTéwTETD
(C) Mode (D) Third Quar‘gﬂe .
ps© APEITHND &TEDDTETLD

89. The third Quartile is also called
PPERTDTEUS STOWLTEID TeTLS)

(A) Lower Quartile (B) Median
EipHleney smednaambd en1_Klencw
(C) Mode Upper Quartile

W@ Gueblene &rewrentd
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90.

91.

92.

93.

94.

Harmonic Mean gives more weightage to
@evssarrsil sids wédwsgeud QarGuug

Small values {B) Large values

APl wriyser Quiflw wd iy ser
(C) Positive values (D) Negative values

Grflen wHiiger adlflen Sl sar

For a positively skewed distribution which of the following condition exists?
Gpllan CamlL NLgeigiée SpsaarL abs Hlupsmar @kheEs Geuadmmib ?

( Mean > Mode (B) Mode > Mean
synadl > @& wps® > grradl

(C) Mean > Median (D) Median > Mode
syngfl > @erLHlena Qe Blanes > (pa@

The Range of the set of values 15, 12, 27, 6, 9, 15, 12, 27,6, 9, 18, 21 1s
15,12, 27,6, 9, 15, 12, 27, 6, 9, 18, 21 i dlu wuysaien oiss

< 21 (B) 45

€ 3 O 12

All values in a sample are same. Then their variance 18
& anQpELIGen erédem WAULSEHD Fbh eremed Sigen rpur (variance) eveer?

o o ® 1

C 4 (D) 10

The variate values which divide a series {frequency distribution) into five equal
parts are called

om Qsrier (Sieabed Lgaud) ghs sowrer Lgdsans WA&GD wEUY wrblse
(variate values) wiapsstiupeug

(A) quartiles vﬂ( quintiles

SME WD TELD MBHGILDTETD
(C) deciles (D) percentiles
ugleomerid R DHMILDTETLD
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95.

96.

97.

a8.

99.

Harmonic Mean gives less weightage to
@evessrrst Gepeurer (péfluggieaud Qaririg

(A Small values Marge values

Adlw wHoyser Quilu by sdr
(C) Positive values (D) Negative values
GrMen ol aer ardlflen i ser

For a negatively skewed distribution which of the following condition exists
agflan GamiLiugeugs@ SpsasaL abg Hlubgamen @ (mssGauaT(Hib ?

{A) Mode < Median (B) Mean = Median
W&l < Qe Hlane Fqraf = @enL Hlaney

(C) Mean = Mode ‘M Mode > Mean
gyrafl = wp&® (p&E®H > sgral

In case of positive skewed distribution, the extreme values lie in the
Coflen. GariLuureueier Ln&CGary i sdr (extreme values) @ mLing)

(A)  Left tail B Mght tail

QLg aured LG eueng) eundd LG
(C) Middle (D) Anywhere
Bhedie et Geuam(Romemeylb

The number of partition values in case of percentiles is
?Dnmgg]m udliey wHuysaflen (partition values) aarenilsans
)

99 (B) 10
c 9 (D) 100

Which of the following is a measure of central value?
AesreupeuameuhHmyeT orgy epiow WL HemTena ?

Median (B) Standard deviation
Ben_Hlane Sl eflevdaid

(C) Mean deviation (D) Quartile deviation
Frn&fl eflevésd STEOOMTET 6% a&EED
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100. Analysis of Variance utilises
wrmur@ uEuumibey uweuRSgIeug)

(

(©)

F-test (B) y*-test

F-Gangenen x*-Gersevar

Z-test (D) ¢-test

Z-Gangener t-Gangenen
25
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